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Ten persons viz. M, N, O, P, Q, R, S, T, U 
and V are staying in a five storey building 
in two different flats viz. Flat A and Flat B, 
but not necessarily in the same order. 
Flat A is to the left of flat B. Flat A of floor 
2 is immediately above flat A of floor 1 
whereas flat B of floor 2 is immediately 
above flat B of floor 1 and so on. No two 
persons stay in the same flat.
R stays on an even-numbered floor and 
immediately above U but not on the same 
flats. S stays three floors away from R on 
the same flat. Q stays on the adjacent 
floor with S but not on the same flat. M 
stays on the flat immediately below Q but 
three flats below O. The number of floors 
above O is the same as the number of 
floors below N.V stays along with T who 
stays on the same flat as P. V does not 
stay in flat B.

दस व्यक्ति अर्थाि। M, N, O, P, Q, R, S, T, U और V एक
पथांच मांक्िलथ इमथरि में दो अलग-अलग फ्लैटों में रहिे हैं।
फ्लैट एऔर फ्लैट बी, लेककन िरूरी नहीां कक इसी क्रम में
हों। फ्लैट ए फ्लैट बी के बथईंओर है। मांक्िल 2 कथ फ्लैट ए
मांक्िल 1 के फ्लैट ए के ठीक ऊपर है िबकक मांक्िल 2 कथ
फ्लैट बी मांक्िल 1 के फ्लैट बी के ठीक ऊपर है और इसी
िरहआगे भी। कोई भी दो व्यक्ति एक ही फ्लैट में नहीां
रहिे हैं।
R एक सम सांख्यथ वथली मांक्िल पर रहिथ है और U के ठीक
ऊपर रहिथ है लेककन समथन फ्लैट पर नहीां रहिथ है। S उसी
फ्लैट पर R से िीन मांक्िल दरू रहिथ है। Q, S के सथर् बगल
वथली मांक्िल पर रहिथ है लेककन एक ही फ्लैट पर नहीां। M, 
Q के ठीक नीचे फ्लैट पर रहिथ है लेककन O के नीचे िीन
फ्लैट है। O के ऊपर मांक्िलों की सांख्यथ उिनी ही है क्ििनी
कक NV के नीचे की मांक्िलों की सांख्यथ T के सथर् रहिी है
िो P के समथन फ्लैट पर रहिथ है। V फ्लैट B में नहीां रहिथ
है। .
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Ten persons viz. M, N, O, P, Q, R, S, T, U 
and V are staying in a five storey building 
in two different flats viz. Flat A and Flat B, 
but not necessarily in the same order. 
Flat A is to the left of flat B. Flat A of floor 
2 is immediately above flat A of floor 1 
whereas flat B of floor 2 is immediately 
above flat B of floor 1 and so on. No two 
persons stay in the same flat.
R stays on an even-numbered floor and 
immediately above U but not on the same 
flats. S stays three floors away from R on 
the same flat. Q stays on the adjacent 
floor with S but not on the same flat. M 
stays on the flat immediately below Q but 
three flats below O. The number of floors 
above O is the same as the number of 
floors below N.V stays along with T who 
stays on the same flat as P. V does not 
stay in flat B.
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Who among the following person stay on the exact middle floor?
a) M
b) V
c) T
d) P
e) None of these

In which of the following floor and flat does N stay?
a) Floor 2, flat A
b) Floor 4, flat B
c) Floor 2, flat B
d) Floor 4, flat A
e) None of these

In which of the following option the second person lives in 
the flat immediately below the first person?
a) MP
b) OU
c) QS
d) VR
e) None of these
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How many floors are there between the floors of V and P?
a) One
b) Two
c) Three
d) More than three
e) None

Four of the following five are alike in a certain way and 
hence form a group. Find the one that doesn’t belong to that 
group.
a) OQ
b) TN
c) VM
d) PS
e) UR
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Six persons viz. A, B, C, D, E and F were born on different days of the same week starting from Monday to 
Saturday, but not necessarily in the same order. Who among the following person was born on Thursday?
Statement I: Two persons were born between the days on which C and B who was born on the day 

immediately before D was born. E was born on the day immediately after A.
Statement II: Only one person was born before C who was born two days away from E. B was born 

immediately after E and immediately before D. A was not born on the first day of the week.

छह व्यक्ति अर्थाि। A, B, C, D, E और F कथ िन्म सोमवथर से शननवथर िक एक ही सप्िथह के अलग-अलग ददनों में हुआ र्थ, 
लेककन िरूरी नहीां कक इसी क्रम में हो। ननम्नललखिि में से ककस व्यक्ति कथ िन्म गुरुवथर को हुआ र्थ?
कर्न I: दो व्यक्तियों कथ िन्म उन ददनों के बीच हुआ र्थ क्िन ददनों C और B कथ िन्म हुआ र्थ, िो D के िन्म से ठीक पहले
पैदथ हुए रे्। E कथ िन्म A के ठीक बथद वथले ददन हुआ र्थ।
कर्न II: C से पहले केवल एक व्यक्ति कथ िन्म हुआ र्थ िो E से दो ददन दरू पैदथ हुआ र्थ। B कथ िन्म E के ठीक बथदऔर D 
के ठीक पहले हुआ र्थ। A कथ िन्म सप्िथह के पहले ददन नहीां हुआ र्थ।
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Six persons viz. U, V, W, X, Y and Z are of different weight, but not necessarily in the same order. Who among 
the following person has the second-highest weight?
Statement I: Only two persons are less weight than V who weights immediately lower than Z. X 

weights immediately higher than U whereas W weights immediately lower than Y. X doesn’t weight 
the highest among all.
Statement II: Only three persons are weighed between W and U who weights immediately lower 

than X. Y weight two persons higher than Z. V doesn’t weight more than Y.

छह व्यक्ति अर्थाि। U, V, W, X, Y और Z अलग-अलग विन के हैं, लेककन िरूरी नहीां कक इसी क्रम में हों।
ननम्नललखिि में से ककस व्यक्ति कथ विन दसूरथ सबसे अधिक है?
कर्न I: केवल दो व्यक्ति V से कम विन के हैं, क्िनकथ विन Z से िुरांि कम है। X कथ विन U से िुरांि अधिक
है िबकक W कथ विन Y से िुरांि कम है। X कथ विन सबसे अधिक नहीां है।
कर्न II: W और U के बीच केवल िीन व्यक्तियों कथ विन ककयथ िथिथ है, क्िनकथ विन X से िरुांि कम है। Y 
कथ विन Z से दो व्यक्तियों कथ है। V कथ विन Y से अधिक नहीां है।
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Statement I: “Fresh cream tastes bitter” is coded as “65 36 98 83”, “Bitter guard is good” is coded 

as “92 36 21 76” and “Ice cream tastes favourite” is coded as “98 26 83 18”.

Statement II: “Pencil writes hard words” is coded as “64 29 96 37”, “Words come fresh always” is 

coded as “10 64 34 82” and “Always come class early” is coded as “34 72 10 94”.

कर्न I: "िथिथ क्रीम कथ स्वथद कड़वथ होिथ है" को "65 36 98 83" के रूप में कोडिि ककयथ िथिथ है, "बबटर गथिा इि गुि" को
"92 36 21 76" के रूप में कोडिि ककयथ िथिथ है और "आइसक्रीम कथ स्वथद पसांदीदथ" को "98 26 83 18" के रूप में कोडिि
ककयथ िथिथ है। .

कर्न II: "पेंलसल कदठन शब्द ललििथ है" को "64 29 96 37" के रूप में कोडिि ककयथ गयथ है, "शब्द हमेशथ िथिथआिे हैं" 
को "10 64 34 82" के रूप में कोडिि ककयथ िथिथ है और "हमेशथ कक्षथ िल्दी आओ" को "34 72 10 94" के रूप में कोडिि
ककयथ िथिथ है। .
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If all the letters in the word “GENTRIFICATION” are arranged in alphabetical order from 
left to right, then how many letters remain unchanged in their position?
यदद शब्द “GENTRIFICATION” के सभी अक्षरों को बथएां से दथएां वर्थानुक्रम में व्यवक्स्र्ि 
ककयथ िथिथ है, िो ककिने अक्षर अपने स्र्थन पर अपररवनि ाि रहिे हैं?
a) One
b) Two
c) Three
d) More than three
e) None
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(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow.
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such 
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top 
floor numbered as seven but not necessarily in the same order. There are less than 
three floors above A. Only one person lives between C and A. G lives immediately 
below D. D lives on an even number floor. B lives immediately above A. F lives above E. 
F does not lives on the 5th floor. F does not lives on an even number floor. 

सथि लोग अर्थाि। ए, बी, सी, िी, ई, एफऔर िी सथि अलग-अलग मांक्िलों पर एक इमथरि में रहिे हैं
िैसे कक भूिल की सांख्यथ 1 है, ऊपर की मांक्िल की सांख्यथ 2 है और इसी िरह शीर्ा मांक्िल की सांख्यथ सथि
है, लेककन िरूरी नहीां कक एक ही क्रम। A के ऊपर िीन से कम मांक्िलें हैं। C और A के बीच केवल एक
व्यक्ति रहिथ है। G, D के ठीक नीचे रहिथ है। D एक सम सांख्यथ वथली मांक्िल पर रहिथ है। B, A के ठीक
ऊपर रहिथ है। F, E के ऊपर रहिथ है। F, 5वीां मांक्िल पर नहीां रहिथ है। F एक सम सांख्यथ वथली मांक्िल पर
नहीां रहिथ है।
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such 
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top 
floor numbered as seven but not necessarily in the same order. There are less than 
three floors above A. Only one person lives between C and A. G lives immediately 
below D. D lives on an even number floor. B lives immediately above A. F lives above E. 
F does not lives on the 5th floor. F does not lives on an even number floor. 
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5. Four of the following five belongs to a group find the 
one that does not belongs to that group? 
ननम्नललखिि पथांच में से चथर एक समहू से सांबांधिि हैं, वह 
ज्ञथि कीक्िए िो उस समहू से सांबांधिि नहीां है?
(a) CD (b) EC (c) FB (d) AB (e) GC 

6. Who among the following lives on the top floor?
ननम्नललखिि में से कौन सबसे ऊपरी मांक्िल पर रहिथ है?
(a) E (b) B (c) F (d) D (e) None of these

7. Number of persons lives above F is same as the number 
of persons below __ ? F के ऊपर रहने वथले व्यक्तियों की 
सांख्यथ __ से नीचे के व्यक्तियों की सांख्यथ के समथन है?
(a) B (b) D (c) C (d) G (e) None of these
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8. How many floors are there above the floor on 
which G lives?
क्िस मांक्िल पर G रहिथ है, उसके ऊपर ककिनी 
मांक्िलें हैं?
(a) One (b) Two (c) Three (d) More than Four (e) Four 

9. Who lives immediately below A? 
A के ठीक नीचे कौन रहिथ है?
(a) D (b) E (c) F (d) C (e) None of these
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10. Which of the following element is twelfth to the left of the twentieth element 
from the left end of the given arrangement?
ननम्नललखिि में से कौन सथ ित्व दी गई व्यवस्र्थ के बथएां छोर से बीसवें ित्व के 
बथएां से बथरहवें स्र्थन पर है?
(a) 6 (b) & (c) M (d) $ (e) None of these 

11. If all the symbols are dropped from the series, which element will be 
fourth to the right of the one which is twelfth from the right end? 
यदद सभी प्रिीकों को श्रांिलथ से हटथ ददयथ िथिथ है, िो कौन सथ ित्व दथयें छोर 
से बथरहवें के दथयें से चौर्थ होगथ?
(a) 9 (b) O (c) R (d) 7 (e) None of these
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12. How many such numbers are there in the given series which are immediately preceded by a symbol 
and followed by a letter? 
दी गई श्रांिलथ में ऐसी ककिनी सांख्यथएां हैं क्िनके ठीक पहले एक प्रिीक और बथद में एक अक्षर है?
(a) None (b) One (c) Two (d) Three (e) Four

13. Four of the following five are alike in a certain way and forms a group find the one that does not 
belongs to that group? 
ननम्नललखिि पथांच में से चथर एक ननक्चचि िरीके से एक िैसे हैं और एक समूह बनथिे हैं वह ज्ञथि 
कीक्िए िो उस समूह से सांबांधिि नहीां है?
(a) 3E% (b) R⧫2 (c) M&$ (d) D9S (e) Y7Z 

14. What should come in place of question mark (?) in the following series based on the above 
arrangement? 34%  N$M  6DL  8Q6  ? 
उपरोति व्यवस्र्थ के आिथर पर ननम्नललखिि श्रांिलथ में प्रचनवथचक धचन्ह (?) के स्र्थन पर तयथ आनथ 
चथदहए? 
(a) %OR (b) 7Z% (c) O%R (d) R%O (e) R%7 
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Seven people viz. P, Q, R, S, T, U and V are sitting around a circular table having 
equal distance between them. All of them are facing inside. P sits immediate 
right of Q. Only one person sits between P and S (either from left or right). U 
sits third to the right of S. T is an immediate neighbor of U. R sits second to the 
left of V. 

सथि लोग अर्थाि। P, Q, R, S, T, U और V एक वरत्तथकथर मेि के चथरों ओर समथन दरूी पर बैठे हैं।
उन सभी कथ मिु अांदर की ओर है। P, Q के ठीक दथयें बैठथ है। P और S के बीच केवल एक
व्यक्ति बैठथ है (यथ िो बथयें यथ दथयें)। U, S के दथयें से िीसरे स्र्थन पर बैठथ है। T, U कथ
ननकटिम पिोसी है। R, V के बथयें से दसूरे स्र्थन पर बैठथ है।
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Seven people viz. P, Q, R, S, T, U and V are sitting around a circular table having 
equal distance between them. All of them are facing inside. P sits immediate 
right of Q. Only one person sits between P and S (either from left or right). U 
sits third to the right of S. T is an immediate neighbor of U. R sits second to the 
left of V. 
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15. If all the persons are arranged according to the alphabetical 
order in anticlockwise direction starting from P, then how many 
persons position will remain unchanged (except P)? यदद सभी 
व्यक्तियों को P से प्रथरांभ करिे हुए वथमथविा ददशथ में वर्थानुक्रम के 
अनुसथर व्यवक्स्र्ि ककयथ िथिथ है, िो ककिने व्यक्तियों की क्स्र्नि 
अपररवनि ाि रहेगी (P को छोड़कर)?
(a) Three (b) One (c) Two (d) None (e) None of these

16. How many persons sits between Q and U, if counted from 
the left of Q? 
Q के बथयें से धगनने पर Q और U के मध्य ककिने व्यक्ति बैठे हैं?
(a) One (b) Two (c) Three (d) None (e) None of these

17. Who sits second to the right of T? 
T के दथयें से दसूरे स्र्थन पर कौन बैठथ है?
(a) P (b) Q (c) R (d) S (e) None of these
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18. Four of the following five belongs to a group find the one 
that does not belongs to that group? 
ननम्नललखिि पथांच में से चथर एक समहू से सांबांधिि हैं, वह 
ज्ञथि कीक्िए िो उस समहू से सांबांधिि नहीां है?
(a) VQ (b) PV (c) RT (d) SU (e) TQ

19. Who among the following sits second to the left of the 
one who sits 4th to the right of V? 
ननम्नललखिि में से कौन V के दथयें से चौरे् स्र्थन पर बैठे 
व्यक्ति के बथएां से दसूरे स्र्थन पर बैठथ है?
(a) U (b) T (c) R (d) S (e) None of these
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There are ten persons are sitting in two parallel row such that five persons are sitting in 
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are 
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting 
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person 
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the 
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R. 

दो समथनथांिर पांक्ति में दस व्यक्ति इस प्रकथर बैठे हैं कक प्रत्येक पांक्ति में पथांच व्यक्ति बैठे हैं। A, B, C, 
D और E पांक्ति 1 में बैठे हैं और उत्तर की ओर उन्मुि हैं और M, N, O, P और R पांक्ति 2 में बैठे हैं और
दक्षक्षर् कीओर इस प्रकथर बैठे हैं कक पांक्ति 1 में बैठे व्यक्तियों कथ मुि पांक्ति 2 में बैठे व्यक्तियों की
ओर है। A के ठीक दथयें बैठथ है। न िो A और न ही B अांनिम छोर पर बैठथ है। P और N के बीच में दो
व्यक्ति बैठे हैं। B, P के ठीक बथयें बैठे व्यक्ति की ओर उन्मुि है। M, R के ठीक दथयें बैठथ है। C, पांक्ति के
अांि में बैठथ है। D, E के बथयें बैठथ है। D कथ मुि R की ओर नहीां है।
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There are ten persons are sitting in two parallel row such that five persons are sitting in 
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are 
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting 
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person 
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the 
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R. 
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23. Four of the following five belongs to a group find the one 
that does not belongs to that group? 
ननम्नललखिि पथांच में से चथर एक समूह से सांबांधिि हैं, वह ज्ञथि 
कीक्िए िो उस समूह से सांबांधिि नहीां है?
(a) O (b) C (c) D (d) P (e) N

24. Who among the following sits second to the left of the 
one who faces B? 
ननम्नललखिि में से कौन B की ओर उन्मुि व्यक्ति के बथएां से 
दसूरे स्र्थन पर बैठथ है?
(a) R (b) N (c) O (d) M (e) None of these

25. How many persons sits on the left of N? 
N के बथईं ओर ककिने व्यक्ति बैठे हैं?
(a) One (b) Two (c) No one (d) Three (e) None of these
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26. How many persons sits between D and C? 
D और C के मध्य ककिने व्यक्ति बैठे हैं?
(a) One (b) Two (c) Three (d) No One (e) Can’t be 
determined 

27. Who among the following faces A? 
ननम्नललखिि में से ककसकथ मिु A की ओर है?
(a) M (b) N (c) O (d) R (e) None of these
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28. IF ‘He will Say’ is coded as ’1 3 9’ and ‘Say To Him’ is coded as ‘3 5 2’ and 
‘He May Do’ is coded as ‘8 7 9’ then what will be the code of ‘will’? 

यदद 'He will Say' को '1 3 9' के रूप में कोडिि ककयथ गयथ है और 'Say To Him' 
को '3 5 2' के रूप में कोडिि ककयथ गयथ है और 'He May Do' को '8 7 9' के 
रूप में कोि ककयथ गयथ है, िो 'कथ कोि तयथ होगथ' मिी’?

(a) 3 (b) 1 (c) 9 (d) 8 (e) Can’t be determined
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29. How many pairs of letters are there in the word “MINUTE” each of which have 
as many letters between them in the word as they have between them in the 
English alphabetical series? 
शब्द “MINUTE” में अक्षरों के ऐसे ककिने युग्म हैं, क्िनमें से प्रत्येक के बीच उिने ही 
अक्षर हैं क्ििने अांगे्रिी वर्ामथलथ में उनके बीच हैं?
(a) Three (b) One (c) Two (d) More than three (e) None
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There are six persons i.e. A, B, C, D, E and F who all are of different weight. No two 
persons have same weight. Only two persons are lighter than A. B is heavier than A but 
lighter than C and D. F is heavier than E but lighter than D. D is not the heaviest. The 
weight of 2nd heaviest person is 115 kg and the weight of lightest is 56 kg.

छह व्यक्ति अर्थाि A, B, C, D, E और F हैं, क्िनकथ भथर अलग-अलग है। ककन्हीां दो व्यक्तियों कथ
भथर समथन नहीां है। केवल दो व्यक्ति A से हल्के हैं। B, A से भथरी है लेककन C और D से हल्कथ है। F, E 
से भथरी है लेककन D से हल्कथ है। D सबसे भथरी नहीां है। दसूरे सबसे भथरी व्यक्ति कथ विन 115 ककग्रथ
है और सबसे हल्के व्यक्ति कथ विन 56 ककग्रथ है।
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30. How many persons are heavier than F? F से ककिने व्यक्ति भथरी हैं?
(a) One (b) Two (c) Three (d) Four (e) None of these

31. If the sum of weight of E and A is 131 and the sum of weight of D and B is 213, then 
what is the sum of weight of A and B? यदद E और A के विन कथ योग 131 है और D
और B के विन कथ योग 213 है, िो A और B के विन कथ योग तयथ है?
(a) 172 (b) 173 (c) 174 (d) 175 (e) None of these

32. Which among the following person is the 2nd heaviest? ननम्नललखिि में से कौन दसूरथ
सबसे भथरी व्यक्ति है?
(a) A (b) B (c) C (d) D (e) None of these

33. Which of the following statement is true? I. Only two persons are heavier than B. II. Sum of 
weight of D and E is 171 Kg. III. Weight of E is 58 Kg. ननम्नललखिि में से कौन सथ कर्न सत्य
है? I. केवल दो व्यक्ति B से भथरी हैं। II। D और E के भथर कथ योग 171 ककग्रथ है। III. ई कथ विन 
58 ककलो है।
(a) Only II (b) Both I and II (c) Both III and II (d) All are True (e) Only III
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Uncertain number of persons are sitting in a linear row facing north. B sits fifth to 
the left of E. Two persons sits between B and D. D sits second position from one of 
the extreme end. Five persons sits between S and E. S is not an immediate neighbor 
of B. As many as persons sits between E and S as between S and C. As many as 
persons sits between D and B as between B and F. C sits third position from the 
extreme end. 

एक रैखिक पांक्ति में उत्तर की ओर उन्मिु व्यक्तियों की सांख्यथ अननक्चचि है। B, E के बथयें से
पथांचवें स्र्थन पर बैठथ है। B और D के बीच दो व्यक्ति बैठे हैं। D ककसी एक अांनिम छोर से दसूरे
स्र्थन पर बैठथ है। S और E के बीच पथांच व्यक्ति बैठे हैं। S, B कथ ननकटिम पड़ोसी नहीां है। E और S 
के बीच उिने ही व्यक्ति बैठे हैं क्ििने S और C के बीच बैठे हैं। D और B के बीच उिने ही व्यक्ति
बैठे हैं क्ििने B और F के बीच बैठे हैं। C िीसरे स्र्थन पर बैठथ है। चरम छोर से क्स्र्नि।
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Uncertain number of persons are sitting in a linear row facing north. B sits fifth to 
the left of E. Two persons sits between B and D. D sits second position from one of 
the extreme end. Five persons sits between S and E. S is not an immediate neighbor 
of B. As many as persons sits between E and S as between S and C. As many as 
persons sits between D and B as between B and F. C sits third position from the 
extreme end. 
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34. How many persons are sitting in the row? 
पांक्ति में ककिने व्यक्ति बैठे हैं?
(a) 21 (b) 23 (c) 24 (d) 26 (e) Can’t be determined

35. If G sits 2nd to the right of S, then what is the position of G 
from right end? यदद G, S के दथयें से दसूरे स्र्थन पर बैठथ है, िो 
दथयें छोर से G कथ स्र्थन तयथ है?
(a) 7 (b) 9 (c) 8 (d) 6 (e) None of these

36. What is the position of F with respect to E? 
E के सन्दभा में F कथ स्र्थन तयथ है?
(a) Second to the right (b) Second to the left (c) Third to the left 
(d) Fifth to the Right (e) None of these 
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Point C is 12m west of point A. Point B is 18m north of point A. Point E is 9m south of point D. Point F is 
14m west of point E. Point D is 28m east of point B. F is 13m south of point G. बब ांद ुC, बब ांद ुA के 12मी 
पक्चचम में है. बब ांद ुB, बब ांद ुA के 18मी उत्तर में है. बब ांद ुE, बब ांद ुD के 9मी दक्षक्षर् में है. बब ांद ुF, बब ांद ुE के 14मी 
पक्चचम में है. बब ांद ुD, बब ांद ुB के 28मी पूवा में है. F, बब ांद ुA के 13मी दक्षक्षर् में है बबांद ुिी.

37. Four of the following five belongs to a group find the 
one that does not belongs to that group? 
(a) CB (b) AD (c) AE (d) BG (e) FB

38. In which direction point A with respect to point G? (a) 
North-west (b) South-east (c) South-west (d) North (e) 
North-east

39. If Point S is 4m south of point G then what is the 
distance between point B and point S? (a) 28m (b) 9m (c) 
8m (d) 14m (e) None of these
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40. Find the odd one out? ववर्म चुनें?
(a) PSRQ (b) MONL (c) ADCB (d) VYXW (e) ILKJ
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